BN 7 AR RETE R O e T A A S 2 D 1 2655 TR PR E

EB BT PR BRI - AR
T EH B B
@ 1T # IR ELHRERE DB AN D AF 84 1H3O0HET
[FataREA] H
AEBRIT. BRI EB T AHE L 2 5P a T v
VLA T HEORBSD - OO AFHESE Th 5,
H O f# 4
=¥ 4
[FEBENR]

EHBRERIERDO LY

ESIS SR I N Al I A




=1 A e
A TFE, FE5 BT % & A o Bl M 3
AN 7 EE SRS E TR TS0 1 %5
FHHOH 2265 = 15, 240, 000
[ERERI R X 8, 690, 037
RPN = 8, 316, 429
FH A & = 8, 316, 429
EE TFHF
] a8 ERINE TR
T AE
] a8 ERINE TR
Ji% AN IRE
] a8 ERINE TR
WS VRS
e I Hh kAT

Je bl 5 HE A )=




THA LR TR BT Y & A m 31l W 7
+ H DR EE RSk
FH A & 10, 000t 2.26 A
MEF 2 e
10 A 1 TR b=l

10, 000t 2.26 el &

10, 000t 2.26 52 e
R

10, 000t 2.06 R EIEL
e Bh 2V

10, 000t 2.26 DO E

10, 000t 2.26 B2
JH i 5

10, 000t 2.06 AR
BT R

10, 000t 2.26 &

10, 000 2.06 AR R

Je bl 5 HE A )=




=1 A B g
A TFE, FE5 BT Y & A m 31l M 7
ISR
FH A & 10, 000t 2.26 JRIXIVER 1/500
FH ST T [
10, 000t 2.26 YERK 1/500
- HuFE
10, 000t 2.06 YERK
A
& BE 1 Wit & EHERR
INHE A EE
WS 1 LoOAEE
A
B 1 TovthE
R 15 1]
km 1.23 YERK
km 1.23 AR
km 1.23 i B ERK
10, 000t 2.26 BHEAMROMERK

Je bl 5 HE A )=




g R =
HH LR FER HAL # & | N o -
B =V 373, 608
20 Jic#e A2 i A
=V Tty
20 gl ST E ¢
IRy - — AR PSS =V , 549, 963
R =V , 549, 963
FH A 5 2 s = , 680, 000
S U = , 746, 891
EL 1 S A =K , 168, 923
[ERCYNE E2v , 073, 294

Je bl 5 HE A )=




=1 A e
A TFE, FE5 BT % & A m 31l M 3
FHHIFH A 28
Ak = 531, 870
TEERTEED
B2 a8 YERZ
EE TFHF
] ew ERINE TR
T AE
] ew ERINE TR
Ji% AN IRE
] ew ERINE TR
B EOTHE X 541, 424
B2 T kA
B M T o o
IE HELOHEE A
A - BT
STARD
1, 000t HELOFE  #HRMA A
A - BT
BT (FE L5y = 95, 629

Je bl 5 HE A )=




g R =
HE LfE R XA % & H i il M B
20 [ZEER &

20 Jic#e A2 i A
Z O hJF A =K 577, 968
Z O ik =X 577, 968
— R P = 933, 109
— R P =V 933, 109
FEH ks = 17, 920, 000

Je bl 5 HE A )=




